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Kapitel 1

732 484 + 7 516 = 740 000	 588 230 + 1 770 = 590 000

732 484 + 67 516 = 800 000	 588 230 + 11 770 = 600 000

732 484 + 267 516 = 1 000 000	 588 230 + 411 770 = 1 000 000

Die drei ??? landen auf der 3. In den beiden anderen Wegen wird es nicht immer 
kleiner, denn 76 > 75 und 40 > 37.

72 < 77	 45 < 54	 77 > 76	 88 < 98	 100 > 35 
63 > 36	 54 < 66	 92 > 29	 71 < 74	   61 > 59 
55 > 20	 69 < 96	 81 < 98	 24 < 25	   48 < 51 
33 > 16	   8 < 44	 32 > 23	 52 > 51	   41 > 14

7 < 11 < 13 < 31 < 33 < 73 < 77 < 100

888 < 898	 100 < 135	 663 < 936	 254 > 166 
492 > 429	 772 > 277	 545 > 544	 707 < 760 
371 > 274	 661 > 591	 220 < 345	 763 < 936 
256 > 246	 692 > 629	 288 < 888	 471 > 174 
161 > 101	 773 > 337	 515 > 514	 700 < 706

77 < 100 < 113 < 131 < 303 < 331 < 377 < 777
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